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  زبان عمومي و تخصصي   

  

  85 سراسري آزمون سؤالات           
  

  

Part A: Grammar and Vocabulary   
Directions : Choose the number of the answer (1) , (2) . (3) , or (4) that best completes the sentence .  
Then mark your answer on the answer sheet .  
 

 1- You ……… the paper by the time professor Smith gets back .  

1) will have finished 2) finish 3) will be finished  4) have finished  

 2- ……… in a foreign country you need to have a valid international driver’s license .  

1) Driving  2) To drive  3) That you drive  4) You will drive  

 3- ……… he is will never die .  

1) Such a man as  2) What a man as  3) What a man that  4) Such a man that  

 4- The insurance company paid him $2000 as ……… for the loss of his car even though he had not  

reported it to the police .  
1) subsidiary 2) convention  3) substitution  4) compensation  

 5- Refer to the footnote on the ……… page ; you’ll find your answer there .  

1) inherent  2) preceding  3) widespread 4) subordinate  

 6- Her new book ……… the essay you’re looking for though you might also find it as a separate piece in 

The Asian Journal of Sociology .  
1) denotes  2) inserts  3) enhances  4) incorporates 

 7- The film provides us with great ……… into life as it was lived two hundred years ago .   

1) route  2) sphere  3) insight 4) coherence 

 8- Wide tree – lined streets are ……… to the town’s character ; it’s not possible to imagine the town 

without them . 
1) precise  2) marginal  3) adjacent  4) intrinsic 

 9- He was arrested by the police when he tried to ……… a gun into the airport .  

1) smuggle  2) impose  3) emerge  4) obtain  

 10- The government strongly supports the ……… of disabled people into the larger society . 

1) distinction  2) acquisition  3) integration  4) construction  
 

Part B: Cloze Test  
Directions : Read the following passage and decide which choice (1) , (2) , (3) , or (4) best fits each blank. Then 
mark your answer on your answer sheet. 
 

Researchers have found that written English works in a very different way to spoken English. The phrase “say what 
you like” literally means “feel free to say anything you want,” but in reality it is used, evidence shows , by someone 
to (11) ……… the other person (12) ……… disagreement . The phrase “it’s a question of” crops up on the 
database over and over again . It has nothing to do with (13) ……… , but it’s one of the most frequent English 
phrases which has never been in a language learner’s dictionary before: it is now .  
The Spoken corpus computer shows how inventive and humorous people are when they are using language by (14) 
……… familiar phrases for effect . It also reveals the power of the pauses and noises we use to play for time , (15) 
……… emotion, doubt and irony. 
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11-1) refuse 2) prevent  3) dismiss 4) disturb 

12-1) voices  2) from voicing  3) to voice 4) to be voiced 

13-1) enquiry 2) context  3) function  4) assessment  

14-1) implying  2) focusing   3) twisting  4) achieving  

15-1) convey 2) to convey  3) that conveys  4) which is conveying 
 

Part C: Sentence Completion 
Directions: Read the following sentences and choose the answer that best completes each sentence.  

 

16- A newer type made by Iranian inventors, which is a non-woven nylon-web material, has been ......... to  

produce a satin finish without sacrificing .......... .  
1) sheared-varnish 2) developed-quality 
3) purchased-accuracy 4) manufactured-precision 

17- Though the replacement ......... may be practically taken on a basis other than on economic grounds,  

knowledge of ......... policies is still very relevant. 
1) path – substitution 2) decision – alternative 
3) decision – bilateral  4) judgment – accounting 

18- When the demand rate for a particular piece part in the assembly line is constant and the .........  

is ............, it is unnecessary to hold a buffer stock for contingencies.  
1) offset time – nil 2) lead time – zero 3) lead time – unity 4) waiting time - unity 

19- Many systems ......... or stop acting properly as time goes by unless some ......... actions are taken to   

ensure satisfactory results.  
1) blow - speedy 2) skip - normal 3) deteriorate-corrective 4) fail-preventive 

20- A more general application of ......... regression would be when X is the ......... inches of rainfall. 

1) cross – length 2) linear – number 3) true – height 4) linear - height 
 

Part D: Reading Comprehension  
Directions : Read the following two passages and answer the questions by choosing the best choice (1) , (2) , (3) , 
or (4) . Then mark your answer sheet.  
 

Skill in exploiting power resources is in itself a vital power resource for leaders . This simple fact is sometimes 
obscured in our elaborate studies of the historical , psychological, and intellectual sources of leadership . But one 
might command ample financial resources , vast popularity , a solid political base , and a grasp of public needs and 
still lack political vision or skill in political management. One might have these resources as President of the 
United States and fritter them away in handling crises or challenges such as Versailles , the Depression , Vietnam, 
Watergate . Real leaders - leaders who teach and are taught by their followers acquire many of their skills in 
everyday experience , in on – the - job training , in dealing with other leaders and with followers .  
Of all the kinds of leadership that require exceptional political skill , the leadership of reform movements must be 
among the most exacting . Revolutionary leadership demands commitment , persistence, courage, perhaps self 
lessness and even self – abnegation (the ultimate sacrifice for solipsistic leader ship ). Pragmatic , transactional 
leadership requires a shrewd eye for opportunity, a good hand at bargaining, persuading , reciprocating . Reform 
may need these qualities, but it demands much more . Since reform efforts usually require the participation of a 
large number of allies with various reform and nonreform goals of their own, reform leaders must deal with endless 
divisions within their own ranks . While revolutionaries usually recognize the need for leadership , an anti – 
leadership doctrine often characterizes and taunts reform programs.  
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 21- According to the passage , what is sometime obscured in elaborate studies is ……… .   

1) the historical and psychological fact  
2) the vital power resource of leaders  
3) the intellectual source of leadership  
4) the ability to utilize power resources as an important source of power for leaders  

 22- The passage claims that ……… .   

1) political vision and skill in political management is not necessarily provided by having financial 
resources, solid political base, etc.  
2) financial resources provide all the political vision for management  
3) political management is more important than money and popularity  
4) both (2) & (3)  

 23- According to the passage, a leader like the US president …….. .  

1) always makes mistakes  
2) commands financial resources, vast popularity, and solid political base 
3) exploits all his resources to curb an emerging crisis  
4) may lose all the resources mentioned by mismanagement of crises  

 24- The leadership of reform ……… .   

1) requires much more than what revolutionary leadership demands  
2) is the most accurate type of leadership  
3) must deal with endless divisions within their own ranks  
4) all of the above  

 25- Revolutionary leaders are ……… .  

1) simply charismatic  
2) like normal people  
3) persistent , courageous, and selfish  
4) inferior to reform leaders in terms of skills they excel at  

The dominant theme in the behavioral science literature of the past 20 years was that work had been so simplified 
that worker’s desire to work were turned off . The remedy proposed was that skills and judgments must be added to 
the denuded jobs . “Make work more interesting and demanding , remove the monotony and drudgery , and the will 
to work will be raised” became the theme for numerous studies and research papers . Job enrichment became a 
slogan . Management and behavioral science journals reported glowingly about a number of companies where the 
jobs were enriched , citing improvements in productivity, work quality , absenteeism, and labor relations .  
Form the results obtained in a huge number of studies on job satisfaction , it was concluded that worker job 
satisfaction and productivity do not necessarily follow parallel paths . This does not mean that the two objectives 
are incompatible , for there is evidence that it may be possible to achieve them together . Nor does it mean that the 
two goals are totally independent of one another . Under certain conditions, improving productivity will enhance 
worker satisfaction and worker satisfaction and improvements in job satisfaction will contribute to productivity .  
Four combinations of satisfaction / motivation are possible: a satisfied worker may be highly motivated or weakly 
motivated ; a dissatisfied worker may be highly motivated or weakly motivated . The data do not show a negative 
or positive relationship, but rather , no relationship .  

 26- The writer tries to ……… .   

1) shed light on misconceptions about the relationships between job enrichment and motivation  
2) state the fact that job enrichment normally leads to better worker performance  
3) show the impacts of originality and judgment on improved job performance  
4) give the results from a number of studies on job enrichment and motivation  
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  رياضي عمومي   

 27- According to the first paragraph , journals writing on job enrichment ……… .  

1) were suspicious of the impacts of job enrichment on improving absenteeism  
2) never found any relationship between jobs enriched and improvements  achieved  
3) cited examples of enhanced work and worker qualities due to worker skills and management 
incorporated  
4) found job enrichment adversely affecting such factors as productivity , absenteeism , work quality , 
and labor relations  

 28- The last paragraph ……… .   

1) shows how motivation may be weakly or strongly affected by job satisfaction  
2) maintains that there are negative relationships between motivation and job satisfaction  
3) discusses whether any relationships hold between job satisfaction and worker motivation  
4) provides data that bear witness to the positive and negative relationships holding between labor 
satisfaction and motivation  

 29- The issue of job enrichment was raise as a means of ………. .  

1) reducing monotony as a result of job simplification  
2) addressing low productivity  
3) creating more incentives and dedication to work  
4) all of the above  

 30- It is probably true that ……… .  

1) more demanding jobs require higher skills and management  
2) job enrichment is merely a slogan devoid of any real sense  
3) the writer does not agree with the supporters of job enrichment as a remedy for the lost dedication 
and motivation among workers  
4) both 3 & 4  

 

  
 31ـ مشتق هزارم تابعf (x)

x


xدر نقطه 1      كدام است؟ 1

1 (1  2 (!999  3 (!1    4 (!1 1   

 32ـ هرگاهx 25 ، مقدار19
a

xd
f (t)dt

dx 
2

xبه ازاي       كدام است؟ 4

1 (f ( )4  2 (f ( )2 8  3 (f ( )8 2  4 (f ( )8 16  

 33ـ حاصلd dy

dx x y




4
4 2 2

xبه ازاي       است؟كدام  2

1 (3  2 (6  3 (6
5  4 (3

2
  

 34 يدر بازهـ[ , ]

2  ميانگين كدام تابع بزرگتر است؟ ،     

1 (sinx 2 (sin x x2   3 (cos x2  4 (x 2 1   

 35ـ مقدارsin xdx


 1


       كدام است؟ 

1 (1  2 (2  3 (4  4 (8  

 36ـ فرض كنيدn  و 2
n

x
na e dx

n
 

1


  ، كدام گزاره درست است؟

1 (na .2  صعودي است (na .3  همگراست (na .4  نزولي است (na .نوساني است  
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 37ـ مقدار انتگرالdx

x x 


2

2 2 1
  كدام است؟ 

1 (
2  2 (

12  3 (
6  4 (

4  

38ـ مقدار انتگرالyx Lnxdx
1


yبه ازاي       كدام است؟ 1

1 (log e5  2 (
y 

1
1  3 (

(y )


 2
1

1
  4 (  

 39ـ انتگرال معين
e

log xdx1   كدام است؟  5
1 (log e5  2 (Lne Ln 5  3 (elog log e 55  4 (log e(e )5 1  

 40ـ انتگرالI log( x)dx 
1

1


nو دنباله 
na [(n )(n )...( n)]

n
  

11 1 2   اي دارند؟چه رابطه 2
1 (n

n
I Lim a


  

3 (n
n

I Lim a


  

2 (n
n

I Lim a


  

4 (I يك عدد اماn
n
Lim a


  بينهايت است. 

 41ـ كدام انتگرال واگراست؟    

1 (cos x
dx

x


   2 (dx

x


   3 (x

dx
x




21 1


  4 (
sin

xdx
x

1
1


  

 42ـ به ازايx 
2
nمقدار 3

n
Lim( x)( x )( x )...( x )


   2 4 21 1 1   كدام است؟ 1

1 (1
3  2 (1  3 (3  4 (  

 43ـ مقدار
n

n
lim

n


  
3
2

1 2  كدام است؟    

2) 2  ) يك1
3  3 (1

  ) صفر4  2

 44ـ كدام سري همگراست؟      

1 (
n

log n





2
  2 (

n

n

n

n!






1
  

3 (
n

n n n






2

1  4 (...    2 2 3 2
1 1 1 12
2 2 2 3

  

 45ـ فرض كنيدS وnS به ترتيب مجموع و مجموع جزئيnام سري
n

n n






1

1
2

هستند و   1
1

2 
|n،nازبه ازاي چه مقاديري   S S |  1

1
2 

 
    برقرار است؟

1 (n 1  2 (n  5  3 (n  3  4 (n 128  

 46ـ با فرض
n n








2
21

1
مجموع سري 6

n ( n )



 
 21

1
2 1

  كدام است؟ 

1 (2

8  2 (2

12  3 (2

18  4 (2

24  

47 فرض كنيد براي سريـn
n

a





1
nداشته باشيم 

n n

a
lim | | r

a



 1     است؟ كدام گزاره صحيح 1

na) دنباله1
| |

r



1
na) دنباله2  اي به بعد نوساني است.از جمله 1

| |
r



1
  اي به بعد نزولي است.از جمله 1

na) دنباله3
| |

r



1
na) دنباله4  نزولي و واگراست. 1

| |
r



1
  كران است.صعودي و بي 1
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 48هاي همگرايي سه سري ديگر است؟ي همگرايي كدام سري شامل بازهـ بازه    

1 (
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f (x)
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




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x
f (x)
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


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1
  3 (n
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f (x) n!x



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1
  4 (

n

cos nx
f (x)
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


 1 2

1
  

 49ـ انحناي مسيرr(t) costi sintj tk  3 3 4
    كدام است؟    

1 (1  2 (3
25  3 (3

4  4 (5  

 05صفحه عمود بر منحني هـ معادلz cos t 2،y sin t وx sin t در نقطهP ( , , )
2 2

2 2  كدام است؟  

1 (x y z  2 2 4 2  2 (x y z  2 2 4 2  3 (x y z   2 2 4 2  4 (x y z   2 2 4 2  

 51خط مماس بر منحني لهـ معادx y z

x y z

   


  

2 2 2

2 2
9

8 
)يدر نقطه  , , )2 2     كدامند؟ 1

1 (x y z
 2 2 1  2 (x y , z  4 1  

3 (x y z  
 

2 2 1
2 2 1  4 (x t 2 yو 2 t 2 zو 2  2،t پارامتر  

 52 ـ به ازاي چه مقاديري ازa دستگاه
x y az

x y z

x y z

  
   
   

3 2
6 4 5





    نهايت جواب دارد؟بي 

1 (a  1  2 (a    3 (a 1  4 (a  2  
 53ـ فرض كنيد دستگاهf (x ,x ,x ,x ) 1 1 2 3 4  وf (x ,x ,x ,x ) 2 1 2 3 4  نسبت به متغيرهايx2 وx1    قابـل حـل باشـد وi

j

f
[ ]

x

 
    

3 1 2
5 1 1 4

 

xمقدار

x




1
3

    كدام است؟ 

1 (1-  2 (
1
2  3 (1

2  4 (1  

 45  ـ  ,x)هـ فرض كنيد در يـك همسـايگــي از نقط y) ( , ) 1 zتوابـع  1 z(x, y) وw w(x,y)  هـاي در معادلـه x y z zw   2 2 22 و 

x y z zw    2 2 22 8  صدق كنند، مقاديرz

x




wو 

x




  اند؟در نقطه مذكور كدام 
1(1 و2  2 (1- و2  3 (1  و 1) 4  -2و2  
 55ـ ماكسيمم تابعw xyz نسبت به قيدx y z  2 2 2   كدام است؟ 1

1 (3  2 (1
3

  3 (3 3  4 (1
3 3

  

 65ـ در نقطهp( , , )1 2 fدار تابعترين مقدار مشتق جهتترين و كوچكبزرگ 3 (x,y, z) x y z  2 2   كدامند؟ 2
1 ( 14  2 (2 14  3 (3 14  4 (2  

 57ترين نقطه منحنيـ نزديكx y 2 2 1،x xy y z   2 2 2     به مبدأ كدام است؟ 1

1(( , , )
1 1
2 2

  2 (( , , )
1 1

2 2
  3 (( , , ) 

1 1
2 2

  4 (( , , ) , ( , , ) 1 1     

58يمحدود به كرهي ـ حجم ناحيهa  هايو مخروط
  و 3

 
2
    كدام است؟ 3

1 (a 3  2 (a 32  3 (a 32
3  4 (a 33

4  

59ـ مقدار انتگرال دوگانه
y

dy sin x dx 
1 1 2


    كدام است؟  

1 (

1  2 (


2  3 (1  4 (2  

 60ـ انتگرال خط
C

(x y )dx (x y) dy   2 2 )هايبا رأس Cروي مثلث 22 , ) ،( , )1 )و 1 , )2 در جهت مثلثاتي كدام است؟    

1 (
3
8  2 (

8
3  3 (3

8  4 (8
3  
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    آمار و احتمالات  
  

 61يـك تـوپ از هـر    حـداقل   كـه كنـيم. احتمـال ايـن   توپ آبي دارد به تصادف انتخاب مي 4توپ سفيد و  3توپ قرمز،  2توپ را از ظرفي كه  5 ـ  
    رنگ انتخاب شود كدام است؟   

1(2
9  2(4

9  3(5
9  4(7

9  

 26اگر ـP(A) / 4 وP(B) / 8 ينييباشد، كران پاP(A | B) كدام است؟  
1(1

4  2(3
4  3(1

8  4(7
8  

 36اگر ـP(A | B)  P(B، مقدار 1 | A) كدام است؟    

1(  2 (1  3(1
  ) قابل محاسبه نيست.4  2

64برابر  ـ يك سكه كه احتمال شير آمدن در هر پرتاب آنp  ـ   است به صورت مستقل آن قدر پرتاب مـي    شـير بـه دسـت     يهشـود تـا اولـين نتيج
  پرتاب نياز باشد، چقدر است؟ 3است، احتمال اين كه به كمتر از  1ها برابرد. اگر بدانيد كه ميانگين تعداد پرتابآي

1(/ 19  2(/ 2  3(/ 29  4(/ 3  

653ـ در يك نانوايي كوچك روزانه شود. تقاضاي روزانه اين نانوايي (عدد نان پخته ميD :داراي تابع توزيع احتمال (  

D

D

f (d) / / / / /

1 2 3 4
25 3 3 1 5
    

       

  باشد چقدر است؟ 1تر يا مساويهاي پخته شده و به فروش نرفته بزرگه در پايان يك روز تصادفي تعداد ناناست. احتمال اين ك
1(/ 75  2(/ 8  3(/ 85  4(/ 9  

 66كند. احتمـال ايـن كـه  نمـره فـردي خـاص در       تبعيت مي 4و انحراف معيار  14اي درس آمار افراد يك كلاس از توزيع نرمال با ميانگين هـ نمره         
  باشد كدام است؟ 15و حداكثر  13اين كلاس حداقل 

1(/ 1974  2(/ 4 13  3(/ 5987  4(/ 8 26  

 67 هتـايي از توزيـع يكنواخـت در بـاز     25ـ در يك نمونه تصادفي( , )1  اگـرX1       ـنمايـانگر تعـدادي از عناصـر نمونـه را كـه در  )هازب , / )4           
Xهها را كه در بازتعدادي از آن X2هستند، ,[ / , / )3 4 7  هتعدادي كه در باز[ / , / )7 9  و سرانجامX4 هتعدادي كه در باز[ / , )9 1  هستند باشند، به

]هطور متوسط چه تعداد از عناصر نمونه در باز / , / )7 9  قرار دارند؟  
1 (2  2 (3  3 (4  4 (5  

68شـود. اگـر   مـي  تايي بـدون جايگـذاري انتخـاب   4تصادفي  يهها سالم است يك نموناز آنقطعه  8 كه قطعه 12توليدي شامل  يهـ از يك انباشت         
  خارج شده سالم بوده است؟ يهبا چه احتمالي سومين قطع ،سالم است يهقطع 3بدانيم نمونه شامل 

1(1
2  2(3

4  3(3
8  4(5

8  

69با انتخاب يك قطعه به صورت تصادفي از پاره خطي به طول  ـL كه نسـبت   تمال اينشود. احخط به دو قسمت كوچك و بزرگ تقسيم مياين پاره

1خط كوچكتر ازقسمت كوچك به قسمت بزرگ پاره
    باشد چقدر است؟ 4

1(1
5  2(2

5  3(3
5  4(4

5  

 70يي كه به مقصد آهن قطارهاـ در يك ايستگاه راهA شوند در حالي دقيقه وارد ايستگاه مي 15صبح به بعد هر  7كنند از ساعت حركت مي         
7:حركت مي كنند از ساعت Bكه قطارهايي كه مقصد  5 8تا  7شوند. اگر مسافري بين ساعات دقيقه وارد ايستگاه مي 15زماني  هصبح به بعد به فاصل 

  خواهد رفت؟ Aچند درصد از اوقات به مقصد  ،بح به صورت تصادفي و با توزيع يكنواخت به ايستگاه برسد و سوار اولين قطاري شود كه خواهد رسيدص

1(1
2  2(1

3  3(2
3  4(5

6  
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71 كند يك متغير تصادفي با تابع نرخ خرابي (نرخ شكست) زير است:هايي كه يك مؤلفه صنعتي كار ميتعداد سالـ  
 
 
/ t

(t) / / (t ) t

/ t

 
     
 

1 3
1 2 3 3 7

1 5 7
 

  سال بعد از شروع به كار هنوز كار كند كدام است؟ 1كه مؤلفه صنعتي ياد شده به مدتاحتمال اين
1 (/e4 5  2 (/e 4 51  3 (/e6 8  4 (/e 6 81  

 72ها به يك پمپ بنزين متغير تصادفي نمايي هاي ورود اتومبيلبين زمان يهـ اگر فاصلX    زدن ن با پارامتر دو دقيقه باشد و بدانيم كـه زمـان بنـزي
هـا در  زدن اتومبيـل  ميانگين زمان كل بنزين Yو  Xبا توزيع يكنواخت بين صفر تا دو دقيقه است، در صورت استقلال  Yمبيل متغير تصادفي براي هر اتو
     ساعت چند دقيقه است؟ مدت يك

1 (2  2 (3  3(2  4(3  

73ـ فرض كنيدZ , ...,Z1 )Nتايي از توزيع 15يك نمونه تصادفي  15 , )1 باشد، اگر
j

j i
i

S Z


 
1

cov(S، مقدار ,S )7   كدام است؟ 12

1 (5  2 (7  3 (12  4 (19  

 74ـ فرض كنيد(X,Y) :داراي تابع چگالي احتمال توأم زير است  
(x y)e x y

f (x, y)
    



2  


  

Zتوزيع  X Y  :كدام است  
1 (( )2 2  2(E( )2   3(( , ) 2  4(U( , ) 2  

75ـ فرض كنيد(X,Y) ال توأم زير باشد:داراي تابع چگالي احتم  

( x y) x , y ,x y
f (x,y)


        



3 2 2 2 24  


 

E[Xمقدار | Y ]      كدام است؟ 1

1(3
4  2(

3
4  3(4

3  4(
4
3  

 76فت رابطـه بـين مقـادير ميـانگين    هاي به دست آمده از يك صـ اگر براي داده(X) ميانـه ،(Md) ـ  x) بـه صـورت  Mo( او نم Md Mo            
  ها:توان اظهار داشت توزيع دادهباشد، مي

  ) چوله به چپ است.2  ) متقارن است.1
  است و هم به چپ است.) هم چوله به ر4  ) چوله به راست است.3

771هاي يك نمونه تصادفيـ فرض كنيد اطلاعات به دست آمده از يافته تايي از توزيعU ,
     
 

1 1
2     به صورت زير باشد: 2

                                   ( ) ( )x , x , x  1 15 8 13 

  كدام است؟ (MLE)به روش درستنمايي ماكزيمم برآورد 
1 (5  2 (8  3 (9  4 (13  

 78ـ فرض كنيدnX , ...X1  يك نمونه تصادفيn  باشد: روهروبتايي از توزيعي با تابع چگالي احتمال        ÷x
f (x) xe ,x ,

 
     

21
2   

)ˆباشند، گشتاوري و درستنمايي ماكزيمم گرهايبه ترتيب نمايانگر برآورد ̂و اگر , )  كدام است؟  

1(
i

n
,

X X

  
 
 2 2

2
2

  2(X, X
 
  

2 1
2  3(,

X X

 
 
 

2
2  4(iX , X

n
 
  

2 22 1
2  

  ساير جاها 

  ساير نقاط
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79ـ اگرx x
f (x)

x

    
 

2 32


تابع چگالي با پارامتر    باشد برآورد حداكثر درستنمايي برايP(X )   كدام است؟ 2

             i i n i iY min X Y max X 1  

1 (Y2
1
2  2(nY2

2  3(Y 
 
 

2
1

2  4(nY 
 
 

2

2  

80ـ فرض كنيدnX , ...X1  يك نمونه تصادفيn تايي از توزيعp( ) :باشد. با تعريف برآوردگرهاي زير  
n n

i n i
i i

T X,T X X ,T iX
(n ) n(n )



 
   

  
1

1 2 3
1 1

1 1 2
2 1 2   از برآوردگرها نااريب هستند؟كدام يك  1

1(T1 وT2 .2  نا اريب هستند(T1 وT3 .3  نااريب هستند(T2 وT3 .نااريب هستند. ) هر سه4  نااريب هستند  

81 ـ صفت مورد مطالعه در يك بررسي اقتصادي داراي توزيع نرمال با انحراف معيـار  Hباشـد اگـر هـدف آزمـون فـرض     مـي  3 :  15  در  
Hمقابل : 1 /دوم هاي خطاي نوع اول و نوعبا احتمال 16 5  باشد چه تعداد نمونه تصادفي بايد انتخاب گردد؟  

1(n  53  2(n  98   3(n  1   4(n 125  

82 ـ براي آزمون فـرض H :  2 Pدر مقابـل  2 , H :   2 2
1 P)مقـدار   1 Value)   اسـت بـا  /   هـاي زيـر   . كـدام يـك از گـزاره   8

    صحيح است؟ 
/داريدر سطح معني H) فرض1   /يداردر سطح معني H1) فرض2  شود.رد مي 1     شود.رد مي 1
/داريدر سطح معني H) فرض3   /با اندازه خطاي نوع دوم H1) فرض4  شود.رد نمي 1  8 شود.رد مي  

83عـ براساس يك مشاهده از توزيB( ,p)4را انجام دهيم: مقابلخواهيم آزمون . مي  H : p / s H : p /  125 5   

Cاگر ناحيه بحراني آزمون { , } 4 باشد، احتمال خطاي نوع دوم كدام است؟  

1(1
8  2(7

8  3(41
128  4(87

128  

84ـ تايي بـدون جايگـذاري از   5تصادفي  يهشود. خريدار يك نمونتايي به خريدار ارسال مي 25هاي ـ قطعات توليدي يك كارگاه در جعبه   يهجعب
هـا را بپـذيرد   از جعبه  درصد 8شد. اگر اين خريدار بخواهدپذيرد كه هيچ يك از قطعات نمونه خراب نباكند و جعبه را در صورتي ميارسالي انتخاب مي

    خراب باشد؟ يههر جعبه بايد شامل چند قطع
  ) چهار4  ) سه 3  ) دو2  ) يك 1

85 ـ فرض كنيدX  باشد:  روهروبداراي تابع چگالي احتمال  ( )x x
f (x)

     
 


2 1 1


 

به طوري كه در آن   2 اي، ناحيـه بحرانـي لـم نـيمن پيرسـون  بـراي آزمـون       باشد. براساس يك نمونـه تـك مشـاهده   مجهول ميH :   2         
Hو :  1  كدام است؟    

1(X C  2(X C  3(X C Xيا 1 C 2  4(X C
f (x)

X C


  

1
   

86   ـ           دسـت آمـده اسـت.  بـرآورد نااريـب       هـ براي بررسي تساوي ميانگين سه جمعيت مستقل نرمال با واريانس يكسان، خلاصـه اطلاعـات زيـر ب
    واريانس كدام است؟

3  2  1    
  اندازه نمونه  5  7  9
  ايميانگين نمونه  2  5/2  75/2
  ايواريانس نمونه  25/1  5/1  1

  

1 (22  2(22
3  3(22

11  4(11
9  

  صورت در غير اين
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  تحقيق در عمليات  

87ه اسـت. بـرآورد   هـاي يكسـان، خلاصـه اطلاعـات زيـر بـه دسـت آمـد        ـ براي بررسي تساوي ميانگين چهار جمعيت مستقل نرمال با واريانس          
    ميانگين كل كدام است؟

4  3  2  1    
3  8  6  5  jn اندازه نمونه  
1  25/1  5/1  2/1  ijx ميانگين نمونه  
8/1  1  5/1  1/1  js انحراف معيار نمونه  

  

1(


99
8  2(8

99  3(14
11  4(11

14   

88    ـ در يك بررسي، معادله خط رگرسـيون متغيـر تصـادفيY    بـر حسـبX  سـت از ا عبـارتY / X / 4 3     اگـر بـدانيم ،i
i

X



5 2

1
96،       

 i i
i i

Y , X
 

  
5 52

1 1
15 iو 2

i

Y



5

1
  كدام است؟  Yو  Xاست. در اين صورت ضريب همبستگي بين  25

1(/ 4
5  2(/ 5

5   3(/

/

 5
1 6  4(/1 6

5  

89 ـ در يك مدل رگـرسيون خـطي سـادهi i ii , ..., , Y x      1 iX،  اگـر25 
25 2
1

125 ،i iX , Y  
25 25

1 1
5 1    وi i

i

X Y



25

1
225 ،  

)ˆˆمقدار , )  كدام است؟    
1(( / , ) 1 2  2(( / , ) 2 1  3(( , )1 2  4(( , )2 1  
90دانيم خط رگرسـيون ـ در يك مطالعه ميY   برحسـبX    برابـر اسـت بـاY / X / 4 2     و خـط رگرسـيونX    بـر حسـبY    برابـر اسـت           

Xبا / Y 2 2بنابراين نسبت پراكندگي مشاهدات .Y به مشاهداتX.است . . . .  
1(% 5  2 (2 مساوي4  برابر 4) 3  برابر (  

  
  

 91را در نظر بگيريد: زيرله أسـ م  
  

s.t
Min cx  



Ax b

x

  
    
   
 

  

    كدام يك از عبارات زير صحيح است؟
  له فوق است.أ) هر جواب قابل قبول اوليه حد پايين براي مس2  له فوق است.أ) هر جواب قابل قبول دوگان جواب بهينه مس1
 له فوق است.أ) هر جواب قابل قبول دوگان حد بالايي براي جواب بهينه مس4  له فوق است.أ) هر جواب قابل قبول دوگان حد پايين براي جواب بهينه مس3

 29 له خطيأمسـ اگرA هلأداراي جواب بهينه محدود و مسB پذير باشد.امكان  
            Max cx  

Ax d
s.t :

x


  

  

  Bلهأمس

          Max cx  
Ax b

s.t :
x


  

  

  Aلهأمس
  نامحدود است. Bلهأ) مس1
  هم داراي جواب بهينه محدود است. Bلهأ) مس2
  كسان هستند.داراي جواب بهينه ي Bو Aهأل) مس3
  ممكن است داراي جواب بهينه محدود باشد و ممكن است نامحدود باشد. Bلهأ) مس4


